In what ratio must a grocer mix two varieties of rice costing ¥15 and 320
per kg respectively so as to get a mixture worth ¥16.50 per kg ?

(Ay 3.7 (B) 5:7
(C) 7:3 Dy 7:5

The area of the base of rectangular tank is 6500 cm? and the volume of
water contained in it is 2.6 cubic metres. The depth of water in the tank is :

(A) 3.5m (B) 4m
(C) S5m (D) 6m

Find the odd man out :

10, 14, 16, 18 21, 24, 26

(A) 26 (B) 24
(C) 21 (D) 8

Find the odd man out ;

385, 462 572, 396, 427, 671, 264

(A) 385 (B) 427
(C) 67 (D) 264

Which is the national sport of India ?
(A} Kabaddi (R) Badminton
(C) Hockey (D) Cricket

in which city 's Amer Fort situated ?
(A) Udapur (B) Jaipur
(C) Agra (D) Gwalior

Who was known as "Desh Bandhu" ?
(A} Chander Shekhar (B) C.R.Dass
(C) A.D. Hume (D} Annie Besant

In which city Fatehpur Sikri is situated ?
(A} Jaipur (B) Jodhpur



10.

1.

12.

13.

14.

15.

The breadth of the railway broad guage is approximately
(A) 2.00m (B) 1.83m
(C) 167m (D) 1.33m

How many stanzas are there in our Naticnal Anthem ?
(A) Two (B) Three
(C) Four (D) Five

The ch
(A) Tt
(C) Ni

Which
(A) R
(C) R

Find th
(A) Sy
(C) Dr

Find the
(A) Ge
(C) Qu

Which of the following words cannot be formed by using the letters of the

word “EDUCATIONAL."
(A) NATIONAL (B) NEAT
(C) DEAN (D) LION



g i 4

18.

19.

20.

21.

22.

PALEPPINE
(A) L (B) A
(C) | D) P

How many meaningful English word(s) can be formed with the letters

“AER. using each letter only once in each word.

(A) None (B) One
(C) Two (D) Three

Febrt
(A)
(C)

If ‘AF e code
langu

(A)

(C)

Find
4, 1(
(A)
(€)

The < having
366

(A) 732 (B) wwu
(C) 1098 (D) 1305

The average weight of 16 boys in a class is 50.25 kgs and that of the
remaining 8 boys is 45.15 kgs. Find the average weight of all the boys in
the class.

(A) 38.55kgs (B) 48 kgs
(C) 48.55 kgs (D) None of these



24.

25.

26.

27.

28.

(A} 2.25 (D) £
(C) 2.50 (D) 2.75

Subtracting 40% of a number from the number, we get the result as 30.
The number is :

(A) 28 (B) 50
(C) 52 (D) 70

If sel ansaction

(A)

(€)

In a it
there

(A)
(C)

10 n ays. How
man 3 work in

12 d
{A} v, w—r =
(C) 12 hrs. (D) 15 hrs.

Two pipes A and B can fill a tank in 20 and 30 minutes respectively. If both
the pipes are used together, then how long will it take to fill the tank ?

(A) 12 min. (B) 15 min
(C) 25 min. (D) 50 mun



30.

31.

32.

33.

34.

35.

the thiet be 8 KMYNT ana mdan O Ui RUivSiiignn 1w Dapiriie g FIuwe jans aos s
will have run before he is overtaken 7

(A) 400 mtr. (B) 800 mtr.
(C) 200 mtr. (D) None of these

A train moves with a speed of 108 kmph. Its speed in metres per second

IS :
(A) 10.8 (B) 18
(C) 30 (D) 388

Internz
(A) Ir
(C) Ir

A famc
(A) In
(B) In
(C) In
(D) In

“Chakr many
spokes

(A) 1
(C) 2

Famot . ) r their
association in the field of

(A) Information Technology (B) Banking Sector
(C) Manufacturing (D) Automobile

A personal savings account cannot be opened in
(A) A Cooperative Bank (B) A Scheduled Bank
(C) Reserve Bank of India (D) A Nationalized Bank



(C) Association of Labour Unions (D) Bodies of Law Councll

Other than Mr. Amitabh Bachchan, which famous personality had
anchored a TV show called "Kaun Banega Crorepati”.

(A) Mr. Aamir Khan (B) Mr, Salman Khan
(C) Mr. Shah Rukh Khan (D) Mr. Akshay Kumar

38.

39.

40.

41.

42.

43.

Ajanta—Ellora Caves are in
{A} T T R 2 inarat

(C)

WHO
(A) N
(B)
2
(D) !

FIFA
(A)
(C)

Whic
(A)
(C)

Dilwara Temple is in which State of India 7
(A) Maharastra (B) Gujarat
(C) Rajasthan (D) Delhi

Sariska Sanctuary is in which State of India ?
(A) Rajasthan (B) Maharashtra
(C) Guijarat (D) Tamil Nadu



45.

46.

47.

48.

49.

50.

51.

(A) 3rd October, 2014 (D) DUl LIS, 2y
(C) 2nd October, 2014 (D) 10th October, 2014

In the evergreen movie ‘Sholay’, the villain of the movie was
(A) Pran (B) Danny
(C) Kader Khan (D) Amjad Khan

Rath Yatra is a major festival in the temple at
(A) I
(C) |

How I
(A) ¢
(C) i

What
(A) F
(C) ¥

Wher:
(A) 1
(cy |

Whict
(A) Rajnikanth (B) Mohan Lal

(C) Amitabh Bachchan (D) Sachin Tendulkar

Decibel is :

(A) a musical instrument (B) a measure of sound level

(C) a musical noise (D) a wavelength of noise



53.

54.

55.

56.

57.

58.

(C) Hertz (D) Megabyte

Choose the option to replace 2 to continue the pattern in given number
series,

6, 12, 21, 2, 48
(A) 33 (B) 38
(C) 40 (D) 45

16.7 +
(A) 1
(C) 1¢

Select an on
either ¢

REAS(
(A) S
(C) U

Directi iption
that ca

9 7
(A) 3(
(C) 3¢

s S L R ——
(A) 105 (B) 110
(C) 130 (D) 113

128, 2, 82, 62, 44, 28
(A) 99 (B) 104
(C) 109 (D) 106




(A) MDEEFS (B) MBEEFS
(C) NCFFGT (D) MBEESP

60.  Find the option to replace ? to complete the pattern

1 4 ?

,ﬁlm,h

(A) 3
(C) 5

61. 25+0
(A) 5
(C) 5

62. Which

(A)

ool [ ] [P

(C)

Directions: Question No. 63 to Question No. 65 :

Find the option to have similar relation on either side.
63. ABCD : WXYZ : : EFGH d s

(A) STOU ‘ (B) STUE

(C) TSuUV (D) STUV




65.

66.

67.

68.

69.

70.

i 5

(C) Daughter

AGRA : UTTAR PRADESH : :

(A) Kolkata
(C) Gujarat

3, 12, 48, 192, ?
(A) 20~
(C) T¢

The He
(A) Je
(C) Al

Which
(A) M
(C) Ni

Who wi
(A) Sz
(C) Rz

The loc
(A) Mound of the Living
(C) Mound of the Dead

1027.05-314.005 + 112.25 =7

(A) 825.095
(C) 825.305

(D)

Mother

MUMBAI : ?

(B)

India

(D) Maharashtra

(B)
(D)

(B)
(D)

Mound of the Great
Mound of the Survivor

825.295
825.395



73.

74.

75,

76.

77.

78.

9.

(C) 40 m/sec.

7589 — ? = 3434
(A) 4242
(C) 1123

72519 x 9999 = ?
(A) 725117481
(C) 68

Which ¢
(A) 35
(C) 53

If 60% o

(A) 80
(C) 75

The H.C
(A) 23
(C) 26

Three n
numbers

(A) 4,8 12
(C) 10, 20, 30

The value of (1 + .1+ .01+ .001) is :

(A) 1.001
(C) 1.003

(D)

(B)
(D)

(B)

50 m/sec.

4155
11023

674217481

(B) 5,10, 15

(D)

12, 24, 36

(B) 1.011
(D)

1,341

The



81.

82.

83.

84.

85.

86.

(A) 75 (B) 150
(C) 200 (D) 300

If GARDEN is coded as 325764 and WATER as 92165, how can we code

the word WARDEN in the same way 7
(A) 925764 (B) 295764
(C) 952764 (D) 957264

Who ¢
(A) N
(C) R

Where
in 189

(A) C
(C) V

Quit Ir
(A) 1
(€) 1

Who w
(A) Lord Dalhousie (B) Lord Canning
(C) Warren Hastings (D) Robert Clive

Railway Passenger Coaches are manufactured a
(A) Varanasi (B) Chittaranjan
(C) Perambur (D) Kolkata

sligion



88.

89.

90.

91.

92.

93.

LY | BN e A en B

(C) Law Minister

National Bird of India is
(A) Indian Crow

(C) Indian Peacock

Wha
(A)
(C)

Who |
(A) |
(C) J.L. Nehru

The Ain— e—Akbari was written by

(A) Firishta
(C) Abul Fazl

§ o 1 mmmrame rEaar e m——-

(D) Vice President

(B) Parrot
(D) Tiger

(D) M.A. Jinnah

(B) Ibn Batuta
(D) Birbal




9s.

96.

u7.

98.

99.

100.

L] T Nl B R gy P LR = T

(C) Hardinge (D) Ripon

The chief architect of Prarthana Samaj was
(A) B.G. Tilak (B) R.G. Bhandarkar
(C) M.G. Ranade (D) Keshab Chandra Sen

indian
(A) F
(C) S

Which
(A) E
(C) h

The O
Ay T
c) T

The He
(A) TI

(C) Chief Secretary (D) Prime Minister

Andy Murray, Nadal, Paes are known for then association to
(A) Badminton (B) Crickel
(C) Tennis (D) Goll






